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Instruction : The exam contains 6 pages with 30 questions.

For each answer, write the correct number down

AND fill in the bubble(s) on the answer sheet.

1. Which of the following gives the lowest result?

@ 52+4 @ 1232+ 8 ® 2.52+3

@ 545+4 ®5+6

2. When sorting the numbers in the box in ascending order and

then sorting the front numbers in the circle in the same order

to get a three-digit number. What is that three-digit number?

(For example, if you think 3 < @ < @), your answer

will be 321)

2
@3

@ 041 @%

3. How many squares of area 0.01 m’ can be obtained when

dividing a rectangle of length 0.7 m and width 0.5 m into

those squares?

4. Find the sum of the number of edges and the number of

vertices of a decagonal prism.

5. The following table shows the height requirements for

different rides at an amusement park. If the heights of

my father, my mother, me, and my brother, are 175 cm,

162 cm, 130 cm, and 120 cm, respectively, how many rides

does the person who gets the highest number of rides have?

[Height requirement for each ride]

CERNIN VoS NAveIAINGA nJouau oS AvRIaINGY Amusement Height Amusement Height
- 7 - - ride requirement ride requirement
o o 1 @ 1 = 1 @ 1 =3
3o lWwriaessd | daugedaud 90 em I | yuwensa | dauganaud 140 cm Au'ly Wonder train | Atleast90cm | Boomerang | Atleast 140 cm
Y A \ > 2 = \ g g
SNy daugeaaua 90 cm yu'lal | lang daugenaua 120 cm yu'lal Flying At least 90 cm but | Viking ride At least 120 cm
'y . elephant less than 130 cm
UAYPENIN 130 cm
- - > > Bumper cars At least 120 cm Camel-back Atleast 110 cm
Y 1 o 1 IS 1 @ 1
01y daugadaa 120 cm Yu i | sonuwauda  |drugadaa 110 cm vu 'l cars
\ Z 2 = . g 2 Kiddie cars At least 90 cm but | Trampoline At least 120 cm
TRAUNY daugadaud 90 em Yuly | unsuIndn  |d@rugedana 120 cm Yu'lal
a S u u less than 130 cm
uateen 130 cm
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6. A wildfire burns on the area of 2 square kilometers, how many
times larger is the wildfire area than the area of a square-shaped

mall with the side length of 1000 meters?

7. A bicycle shop has 50 two-wheel and three-wheel bicycles
combined. If the total number of wheels is 122 wheels,

how many three-wheel bicycles does the shop have?

8. Which of the following gives the highest result?

3 9
@45 @ <6 ® - 6
4 7
3 4
@1§+4 @§X3+4

9. A rectangular prism with the length, width, and height of
2 m, 3 m, and 4 m, respectively, has the surface area of

a square meters and the volume of b cubic meters. Find a + b.

10. What is the name of the given figure?

(D Trapezoid (@ Triangular prism
(® Quadrilateral prism @ Triangular-based pyramid

(® Quadrilateral-based pyramid

1
11. Load 2 5 tons of goods equally onto 4 trucks. If, eventually,
b
each truck has to carry — ton(s) of goods, find a + b.
a

b
(— is a fraction in the simplest form)
a

12. A shepherd boy wants to herd sheep from point 4 to drink
water from a stream (the straight line beneath), then return
to his home at point B. If he wants to travel on the shortest
route, which point should the boy herd his sheep to drink

water?
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13. Gl’_ljaclﬂﬁaqﬂﬁwﬂ1jgﬁ1ﬁunﬂﬂjgﬂﬁ 13. Which of the following is NOT congruence?
@ qjjﬂﬁujl,‘ﬂéﬂuéj1ugﬁ1ﬁ@qzﬂ‘ﬁﬁﬂq1um’gwfiqgg]}quwhﬁ'u (D Two equilateral triangles that have a side of the same length.
® gﬂﬁmmﬁsmﬁmgﬂﬁumﬁmmmﬁmmmmﬁu (@ Two triangles that have all three angles equal in measure.
® gﬂﬁmmﬁEmﬁmgﬂﬁé’mv‘%’qﬁmﬁmﬂmmﬁu (® Two triangles that have all three sides equal in length.

Y A

A 4 , @ Two triangles that have a side of the same length and
@ gﬂﬁmmasmﬁmgﬂmwmmuﬂmmﬂmm A HuNnoy

two equal angles at the ends of the side.
=

Y Y
quﬂﬂmﬂmmmummmmﬂu (® Two triangles that have two sides of the same length and

dd&l A

4 \
® jimumasudesgnidmdesiueminuiazyuoy the equal angle between the two sides.
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14. miutazgyouaunmavdnavnglnw Taemiuszasiag 14. Tabin and OuSong play a game of filling in numbers for
v a o o Fo g figures, in which Tabin will create figures and OuSong will
1A TRIITIANAIAVAINHANINUNAAE 11T

fill numbers in according to the following rules:

A A ﬂd d alsJQ | o . .
NIUNFUVUUNUALNAT INIAL Fill in 1 if the figure has an axis of symmetry.

ﬂjfﬁﬁ ﬂd AU s1a 2 Fill in 2 if the figure has a point of symmetry.

ad a 3 Fill in 3 if the figure has both an axis of symmetry
NsUNIUINUNUANIIATIAY ﬁmammﬁﬂwmu 3 .
¥ and a point of symmetry.

' o

ﬂimmﬂ"lwmuﬂuﬁummiua“ﬂﬂﬁummﬂmﬁu 0

3 Fill in O if the figure has neither an axis of symmetry

9 ' o { o A a o :
ningiduan Srununlaundnigroudaunosiuiule nor a point of symmetry.

Therefore, for the figures shown below, what is

msswun | dvavlundndes | duavluvdndy | dwavlundnnioe

the three-digit number OuSong would fill in?

51) *15 Number in Number in Number in

o \ Classification | hundreds place tens place ones place
IUIUFINHAN . | 4

1gure \-1:
Three-digit
number
15. ﬁujﬂélwéﬂuﬂqqﬁuﬁﬁﬂquﬁq 5cm i]zulﬁjiﬂﬁma‘ﬂuﬁuﬁﬁ 15. Fold a trapezoid with the height of 5 cm to get a rectangle
v [ v Y v . .
ATiA16719 8 em WE’J mm’ngﬂﬁmﬁaumwyjﬁﬁuﬁﬂ sz with the length of 8 cm, as shown. What is the area of

the trapezoid in cm’?
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16. 33837]1\11/]5ﬂiﬂﬂﬁ'ﬁuﬁuhlﬂ(lulﬁ]a"l 593139 A28AN5T 186 km 16. What is the difference, in km, between the distance that
a0 3 6]?531“\1 ﬁ‘]J'i‘”EJ“’VINﬁiﬂll‘V\ILLﬁullﬁkluﬂa"l 6 %I'JI?JQ a bus travels in 5 hours at the speed of 186 km per 3 hours

3 and the distance that a train travels in 6 hours at the speed
< ' 1 Vo A
AWANWT 8 kmao7 WM UWAA1INNUN km

3
, of 8 Z km per 7 minutes? (The bus and the train travel at
1 o <
(iaTﬂammazsallmmué’aﬂam:nn,samﬁ)

a constant speed)
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17. Woregninanauanuduiusasgl s lumsaiagl 17. When placing cubes based on the relation shown in the

figure, how many cubes are needed in the 1 1" placement?
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18. WAMNUNIHUANUIUNTA @)1 10 TagApnuraIiuial 18. How many improper fractions, which are greater than 1
' | ) ' but less than 2.4, have 10 as their denominator?
NINATI 1 UAUBENTI 2.4
' Y : < .
19. yulae lTfugddueuruanduuu dAunih nagdudg 19. The following figures are the top, front, and
‘VTN‘UTIﬁE] right-hand-side views of a shape.
AU Munin e nie Top Front Right-hand-side

=) ~

mm?hwamﬂmmﬁwmugﬂmﬁﬂmu@wqmmm"maugﬂmﬁﬁ What is the sum of the minimum and maximum numbers

9

{ { { o of cubes needed in constructing such shape?
nnnigandeldlumsadregdiminumls & P
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20. magﬂmqamaﬂmu‘umﬂm”lﬂuuwuﬂm 108 cm” AMHIUNILHBD 20. If the following rectangular prism has the surface area of
wuad lugeq I:' Ao ruaula 108 cm’, what is the number in|:| ?
.3cm, _3em,
D,cm”"" D.cm”" (
. 4cm 4cm
21. Sunvzdeudnasluges [ | Aeswiula 21, What is the number in [_]?
2 2 2 2
= 3= [== g= =3[ |=
85 73+ [] 5 5 [ 5
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22. s lfuaaswamsdisrvnzuuuInaalamansveainGou 22. The following table shows the survey results of the mathematics

v A A 4 o scores of 30 students in YoJae’s class in comparison with
TuvioaTous 30 Au TaglSeumeunuasumasveTinsou ] )
the average score of students in the entire year. By how many

A 4 1
Y = | 1 = o ~ Y 1
vl mwnmzuuumaﬂmmumiﬂucluwaﬂﬂmqm’n points is the average score of students in YoJae’s class higher
1 Y 4 '
AR AU NS IUNIT UL DAL LU than the average score of students in the entire year?
N . A A ¢ oideandudos] Comparison table for the mathematics scores of students
AINUUIYUVNSUASUHHIBIAUATITATVIIUNL IS U IHTYIOI LD in YoJae’s class
nzjuﬂm’%’w §1M3Hﬁﬂ!§ﬂu (AY) Group of students Number of students
\ An v N A The group scoring below the average of
naui ldnzuuudinnazuuumassuil 15 azuuu 1 . . 1
a : : _ the entire year by 15 points
nquit ldazuuudnazuuumasiull 10 azuuy 2 The group scoring below the average of )
oAy y o 1 A 2 a the entire year by 10 points
nquw"lﬂﬂzuuummmmuumaﬂﬂmﬂ 5 ASUUYU 5 -
> The group scoring below the average of
oAy Y Vw A o A 5
ﬂijll‘1/]llﬂﬂ$L!uuLﬂ1ﬂUﬂ$LLuulﬂﬁﬂﬂ5uﬂ 7 the entire year by 5 points
" A ] L 7 Th i 1 to th f
nguit ldnzuuuganhazuuumdodudl s azuuu 6 ¢ group seotiig equato e average © 7
- — the entire year
oA Y 1 A v A
ﬂquﬂllﬂﬂ3!Luuq3ﬂj1ﬂ$uuulﬂaﬂ%uﬂ 10 ASLUY 4 The group scoring above the average of
6
] [l v . .
nqui Idazuuuganazuuumasiul 15 azuuy 4 the entire year by 3 points
T R The group scoring above the average of 4
ﬂ’qm/lllﬂﬂ$lLU‘LAtIQﬂ’J1ﬂ$LLHULﬂﬁEJGHuﬂ 20 AZLUY 1 the entire year by 10 points
The group scoring above the average of 4
the entire year by 15 points
The group scoring above the average of |
the entire year by 20 points
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15|16 [ 17 [ 18 | 19 | 20 | 21
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23. In finding all different nets of a cube, how many more nets
are there besides the nets shown below?
(Nets that can be rotated or flipped to completely overlap

each other are considered as the same net)

24. Cut the shaded areas of the square cardboard with the side
length of 10 cm as shown and fold the remaining into
a rectangular box with no lid. Then, put cubes with the
volume of 1 cm’ into the box until the height of the box is
reached. Find the maximum number of cubes that can

possibly be put in the box.

25. Fill numbers in a table based on the following pattern.

1,23 |4 |5|6]|7

8191|1011 (12|13| 14

15|16 | 17 [ 18 | 19 | 20 | 21

22|23 (24 | 25 | 26 | 27 | 28

29|30 (3132|3334 |35

If 9 numbers are grouped to form a square (such as the shaded
area shown in the figure) and the sum of these 9 numbers

is 900, find the number in the middle of the square.

26. Rotate quadrilateral ABCD 60° clockwise using point D
as the center of rotation to get quadrilateral EFGD.

What is the sum, in cm, of the length of line segment CG
(connecting point C and point G) and the length of line

segment AE (connecting point 4 and point £)?

—6cm - D
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27. Mnnszapglmmasududnilantigautisdunhaily 27. A rectangular paper has points that divide the width into
ﬁmﬁ'amvhﬁuuazuﬂqé'men:deuAd’mmﬁu a951) two equal parts and the length into four equal parts as shown.
¢ o O o o o)

ol o e o o
e}

>
o o o o 0

o o o o o}

, B , How many different ways to draw lines to divide the paper
1 Aad A A o 1 = ' W
WMz TWeUsUmeAansza ity 4 g MmNy
v

@ into four congruent parts? (The connections of points at
nnlszmstanuanis (maveuseyalusumiafiseiudedy : i : -
a v q different positions are considered as different methods)
ad d‘ 1 %
ATNLUANANNU)
a o 1 1 . . . . .
28. 5111’3%EJ‘]JG]I‘UﬁmﬁWMﬁﬂL%EJ‘LlLﬁ‘Hﬁ’JualuzﬂNa‘U’JﬂGU’fNLﬁBﬁ”Ju 28. Ancient Egyptians could write a fraction in terms of the sum

An o of fractions with numerators of one as shown in

I =& v o 1 1 ;
nlauAmunile dededraas 11l
the following example.

1 1
3_1.1 3011
o2 PR
%17981UdN0IMIutaeitla 3 wa ldau 4 au
Ancient Egyptians believed that 3 apples could be
1 ] o Y 1 ) Y .. g
Avaz 9 nu MldTaemsuareiila 2 wa Tiau equally divided between 4 people by, first, dividing

2 apples between 4 people so that each person gets

1 d! 9 1 09)1 ] ar
4 AUNDU Gm%”l@ﬂua: B wa Mntuuyawelilaon |
— apple, then dividing the remaining apple so that
£ A A g ya 1 2
niswantvas Ionauay N W

each person gets n more apple.

A~ 8 [l AN o I =& v 1 dy
ooy — lusinavinvouauaIunUd el unil daae 11l 8 . 4
9 v When writing 9 in terms of the sum of fractions with

WHIMYBIa+b +c numerators of one as shown below, finda + b + c.

s L, 8 1 11
9 a b ¢ o 4 T
29. 1 linesdnlianyuzmeuoniiouniunniszmssiuan 28 Ty 29. There are 28 golden eggs that have exactly the same appearance.
327 Gl,‘]JﬁidJiil”lﬁﬂjﬂL‘Vi”lﬁluﬁiJﬂ !,wimluwﬁuﬂu"lﬂiﬂaamazﬁ 27 of these eggs have the same weight but there is one fake

9 I
A 1

o w ' Yy _ o 4w <& o golden egg that is lighter than the others. To assure that
inuinnludu 1 JWHUTNVSADIBY LUHATUUUATYIT DLV

k4 J
v =K £

R ' . 2 uy the fake egg will always be found, at least how many times do
2YNUDINYANAI m%zuu“li]mmmmm“lmﬂaau”luuu”lﬂLfma

the eggs have to be weighed on a balance scale?

§ quy ) ) @ o Y ' )
30. o ldtu e TiadegUauanuduiusaeliil s 30. When using matches to construct figures based on
v 4 v A v
Muldva 11 n1F uasan 20 INIHUANAIU the following relation, find the number of matches needed
for the 20" construction.
A v 1 A v A v A ]
(=t = (=t [ = v AaA
ATINUUI  ATINT DI ATINT U ATING
§ _ i First Second Third Fourth
construction construction construction construction
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